O] &F At == I A
20199 & 20 & et
A 0 ED
g =g 384
EHl RO Al E (29l 8)
= _ — d =
SN FH-SA(EN) - MBAY - BES e HlnE2
W ED ,410,869 14,461,387 4,949,482
= ,674,869
s ,963,268
J| ,431,998
< ,055,259
Al ,285,475
=2 2 L3 , 764,687 13,534,531 230, 156
= 634,869
s ,963,268
J| 1,431,998
< 991,259
Al , 743,293
OB = ,616,468 3,853,883 762,585
= 180,427
s ,075,323
J| 612,805
< 375,666
Al , 372,247
S0 HUXNEZAIE N (ME2uAEXIOIES 200,943 364,665 A163,722
£3t)
= 80,377
< 36,170
Al 84,396
402 BIZ2HRL 200,943 364,665 A 163,722
= 80,377
< 36,170
Al 84,396
02 2I2tXt 200,943 364,665 A 163,722
OA& 200,943
= 80,377
< 36,170
Al 84,396
TA=CES 125,063 0 125,063
= 100,050
< 7,504
Al 17,509
301 et &t 125,063 0 125,063
= 100,050
< 7,504
Al 17,509
12 JIEtE4 125,063 0 125,063
O x2=elXd 125,063
= 100,050
< 7,504
Al 17,509
SMHSHEME 390,000 300,000 90,000
402 BIZ2HRL 390,000 300,000 90,000
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A 0 ED
M =0l AWM L3
Sl RO A ADIBTRE (B9 ®R)
_ d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 2IZEH 2 A B (KR ) 390,000 300,000 90,000
OsdtEMeSMEn &
6,000, 000& =130CH x50% 390,000
HAoE2SIIeAS 2,500 2,500 0
202 Odl 1,500 1,500 0
01 = LH 4 Hi 1,500 1,500 0
ONASSES]M oIz U WO
50,000& *30H 1,500
301 LAz 1,000 1,000 0
09 EALAHIE &S 1,000 1,000 0
CRANER=I MU= 20,000& x50H 1,000
AE R0 MAD| B2 = 185,000 185,000 0
402 RI2EX=201 A 185,000 185,000 0
01 2I2E 2 A B (KR ) 185,000 185,000 0
Ogns S8 23Hg X&
7,000,000& *102 *50% 35,000
ORHAE DEZE MAXE
500, 000& *600= *50% 150,000
ZOUALEES(AUZS HIOIEEIR2A AlE X&) 500,000 510,000 A 10,000
402 QI2H X201 A 500,000 510,000 A 10,000
01 2I2E 2 A B (RERTH &) 500,000 510,000 A 10,000
O30S HIJHE oteAa X X&
20,0003 +50,000m" x50% 500,000
ANESIRA =&Y 2 MKEZNL &Y £X X 90,000 90,000 0
402 RI2EX=20l A 90,000 90,000 0
01 U2 EALE X (XM R) 90,000 90,000 0
ONEGRA SHY U MSHAMWH HBY
X A& 7,200& *25,000m" x50% 90,000
FHI=ZLASIIEIEHA 3,000 18,000 A 15,000
203 YR =&l 3,000 3,000 0
03 AIMF=XH R =AY 3,000 3,000 0
OJMAAE AMFA 3,000
sENE SN (NS BESHIL6RA & 1,081,200 203,575 877,625
)
s 901,000
Al 180,200
402 2I2H X201 M 1,081,200 203,575 877,625
s 901,000
Al 180,200
02 QI EASEZ (OIS ) 1,081,200 203,575 877,625
OXNEs3s EsHIE6tA X 756,840
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2N

2os=l

O 24 xHed
S8 So~.

=EE 23t
CHol: A0 M AD|B RS CER-ED
4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
e 630,700
Al 126,140
OXEEsANE =0t S8 324,360
s 270,300
Al 54,060
AMNERAWSE U XA 1,480,113 1,731,640 A 251,527
J| 592,045
< 266,421
Al 621,647
402 RIZ2FXt201 ™ 1,480,113 1,731,640 A 251,527
J| 592,045
< 266,421
Al 621,647
02 RIZt X2 AL EZ (OIS ) 1,480,113 1,731,640 A 251,527
OAIZ 30l & CHatALSY 1,480,113
J| 592,045
= 266,421
Al 621,647
DE=HIJIHEMEBIAIE X & 30,000 8,690 21,310
J| 12,000
< 5,400
Al 12,600
402 2I2H X201 M 30,000 8,690 21,310
J| 12,000
< 5,400
Al 12,600
02 QI 2 A EZ (OIS ) 30,000 8,690 21,310
ODFHIOLE MEHAIE X & 30,000
J| 12,000
< 5,400
Al 12,600
20Z0F ICT 85 XA 21,900 101,340 AT9,440
J| 8,760
< 3,942
Al 9,198
402 RIZEX20| A 21,900 101,340 AT9,440
J| 8,760
< 3,942
Al 9,198
02 U2 THEALEZ(0IETHR) 21,900 101,340 AT9,440
OJUZ0F ICT 858 XEAY 21,900
J| 8,760
< 3,942
Al 9,198
SENE SIS (FTAZZRE FHH ML 70,800 0 70,800
s 59,000
Al 11,800

- 325 -




BN EEN

XNZEH: = AXHaA
oSS S8 S o.

23t
CHol: A0 M AD|B RS CER-ED
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
402 BI2FX=01 M 70,800 0 70,800
s 59,000
Al 11,800
02 QI EASEZ (01X ) 70,800 0 70,800
Ogxs I3 MIAMY 70,800
s 59,000
Al 11,800
MDA 23D X2 74,760 80,417 A5,657
< 22,428
Al 52,332
402 2I2H X201 M 74,760 80,417 AN5,657
= 22,428
Al 52,332
02 DIt E2AIL EZ (01 E TS ) 74,760 80,417 A5,657
OANEotA2SHYIIXA 74,760
< 22,428
Al 52,332
g2a=2 2eld] NIAE 110,000 165,000 255,000
402 RI2HXt20l ™ 110,000 165,000 A 55,000
01 212t 2 A E = (REMTH ) 110,000 165,000 A 55,000
Og&z 2217 XAAZ
2,200,000& =100CH x50% 110,000
EE ANEE Eat 112,801 61,040 51,761
< 33,801
Al 79,000
402 RIZ2EXt20l ™ 112,801 61,040 51,761
< 33,801
Al 79,000
02 22t X2 AL E = (01X THE) 112,801 61,040 51,761
Oz2tEd ADNEE St 112,801
= 33,801
Al 79,000
AMERWES SHOIBIEIN & AL 113,188 32,016 81,172
s 94,323
Al 18,865
402 2I2H X201 M 113,188 32,016 81,172
s 94,323
Al 18,865
02 QI EALEZ (01X THS) 113,188 32,016 81,172
OANERAUWEZ SHOIHESIHE ALS 113,188
s 94,323
Al 18,865
SRS MADIBE DALY 25,200 0 25,200
ras 21,000
Al 4,200
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Ol sl 2t

B =9 M L
E o MADIBRS (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
402 BI2FX=01 M 25,200 0 25,200
s 21,000
Al 4,200
02 QI EASEZ (01X ) 25,200 0 25,200
ORI THAMAD B = 25,200
s 21,000
Al 4,200
siters84s 2,744,174 5,149,740 A 2,405,566
= 344,442
as 485,945
< 247,593
Al 1,666,194
SHER e g - st 19,600 19,600 0
202 od4dl 4,500 4,500 0
01 = LH o4 1 4,500 4,500 0
OSSHE BEZE T 100,0008 «32 *152 4,500
301 et A3z 5,100 5,100 0
09 A HIE &S 5,100 5,100 0
OsSHE NBHA BEQR &IHP4
100,000 3 17 5,100
307 21201 A 10,000 10,000 0
02 QB AAHFEX 10,000 10,000 0
OsSHie 82 L SHHBA A4
2,000,000& x53] 10,000
s&g OHHE X/¥(Bx) 75,546 81,600 26,054
= 37,773
< 11,332
Al 26,441
307 21201 A 75,546 81,600 26,054
= 37,773
= 11,332
Al 26,441
02 YAFAAFEX 75,546 81,600 26,054
OsttE OHAHE XN R ALY 75,546
= 37,773
S 11,332
Al 26,441
s4tE TVELE OHAHE X3 ALY 36,000 24,000 12,000
< 12,000
Al 24,000
307 gl2tol & 36,000 24,000 12,000
< 12,000
Al 24,000
02 IZtE M AHE L 36,000 24,000 12,000
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A Eos=2l

HE: =9 FMY L
ool sM2RSEAE CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 74,001
Al 172,668
307 glz2tol & 493,338 366,610 126,728
= 246,669
< 74,001
Al 172,668
02 IZtE M AHE X 493,338 366,610 126,728
OsSUHESESSEotUHAIY 493,338
= 246,669
< 74,001
Al 172,668
sHttE ZSEot EUXR (XHA) 150,000 150,000 0
307 21201 A 150,000 150,000 0
02 QAFAAFEE 150,000 150,000 0
Osttg 3sE6 U (S4H])
300,000,000& *50% 150,000
sSENE SFMHS A (a8 23480 EES X 112,720 57,882 54,838
A
s 67,200
Al 45,520
402 QI2H X201 M 112,720 57,882 54,838
s 67,200
Al 45,520
02 QIZIH 2 AL EZ (OIS ) 112,720 57,882 54,838
O=s¢d2 S 24U EESFXNAAZ 112,720
s 67,200
Al 45,520
sENE SN (sa2 3S2Y KA 124,494 82,500 41,994
EEAY)
s 103,745
Al 20,749
307 gl2tol & 124,494 82,500 41,994
s 103,745
Al 20,749
02 IS AHE L 124,494 82,500 41,994
O st=2 2 XNIHA =5 NIAMG 124,494
as 103,745
Al 20,749
s&t2 74l N3 420,000 396,000 24,000
307 i+l & 420,000 0 420,000
02 It M AHEE 420,000 0 420,000
Osdtzd=sIt s¢tE =]Hl N 120,000
OSE0HE 0 Ss=7H X& 300,000
SENE SSUHASAXNA(ZZEE AN RSAE 30,000 0 30,000
M)
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AN H0dED
HE: =9 FMY L
ool sM2RSEAE CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
e 25,000
Al 5,000
402 RI2EX=20| A 30,000 0 30,000
= 25,000
Al 5,000
02 QI EAISEZ (OIS ) 30,000 0 30,000
OFZEE AR HIEoR2A NEAY 30,000
s 25,000
Al 5,000
sENE SIS (sbte &4Fs JIg2FA 360,000 680,000 A 320,000
o)
s 225,000
Al 135,000
402 RI2FX =01 M 360,000 680,000 A 320,000
s 225,000
Al 135,000
02 QI EAILSEZ (01X E) 360,000 680,000 A 320,000
OsdsaSst IS ALY 360,000
s 225,000
Al 135,000
SENE SSMLSTNA (LS 2HS HLAY) 6,000 6,000 0
s 5,000
Al 1,000
307 21201 A 6,000 6,000 0
as 5,000
Al 1,000
02 QB AANHEX 6,000 6,000 0
OgX=E 433 ZZM XNJAAS 6,000
s 5,000
Al 1,000
FZEC MY 35,876 104,828 A 68,952
s 10,000
< 6,804
Al 19,072
307 21201 A 35,876 29,828 6,048
s 10,000
< 6,804
Al 19,072
02 IZtE M AHE L 35,876 29,828 6,048
Ods sdts XA 15,876
< 6,804
Al 9,072
OZZZL XNIHE HMiadH wseEs N 20,000
s 10,000
Al 10,000
F=s4848 JHEE X AY 338,180 38,120 300,060
= 101,456
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AN Hos=En

Ha: s AW L
SMIIBSAETSH (cho &)
- _ _ RE]
SA - B .G (3AH) - MBAY - BES %Eﬁ HR=2
O=2Uasetets &I X
1,500,000 x 100 & A 15,000
EERSPNEE] 40,000 40,000 0
307 2Iz2t0| A 40,000 40,000 0
02 QI AAIRE E X 40,000 40,000 0
OSSHZ 2EANT HE
2,000,000& x1001 & M 23] 40,000
EMBELEEXNE 350,000 433,333 A 83,333
& 105,000
Al 245,000
307 Q12t0| ™ 350,000 433,333 A 83,333
o= 105,000
Al 245,000
02 DIZHBAAIE E X 350,000 433,333 N 83,333
OtldsdE =2 FHl NI AMY 350,000
& 105,000
Al 245,000
SEXNSE S (sAEINY PESHIIAY 185,000 0 185,000
Fag 132,000
Al 53,000
402 QI2v X2 0| & 185,000 0 185,000
Fag 132,000
Al 53,000
02 CIZtXIE A E X (0| XM THSH) 185,000 0 185,000
OsAZEIY U=EXNIJAY 185,000
Fag 132,000
Al 53,000
HACCP AtZE2te| &8 X & 20,000 9,800 10,200
Fag 14,000
Al 6,000
307 2Iz2to| A 20,000 9,800 10,200
Fag 14,000
Al 6,000
02 QI AAIE E X 20,000 9,800 10,200
O HACCP AtZE2te| ZHEE X AIY 20,000
g 14,000
Al 6,000
AEIY HEHQH FAKXNIAS 146,000 0 146,000
= 90,000
&< 18,000
Al 38,000
201 et d| 1,000 0 1,000
01 AP 2t 2] d| 1,000 0 1,000
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AN Hos=En

HE: =9 FMY L
Sl SAIIBABESY CERED
. SfE|
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OsAzJlg FHeE HYXE
100,000& =10 1,000
202 O4dl 1,000 0 1,000
01 = LH 4 Hi 1,000 0 1,000
OsAzJlg HeE HYXZ 1,000
307 glz2+ol & 144,000 0 144,000
= 90,000
< 18,000
Al 36,000
02 QB LAHEX 144,000 0 144,000
OsAlEIlY FEelE HEXA
2,000,000& x9H «10JH & *80% 144,000
= 90,000
< 18,000
Al 36,000
STOEE LA AY 40,000 0 40,000
= 20,000
Al 20,000
307 glz2+ol & 40,000 0 40,000
= 20,000
Al 20,000
02 HAFHAANGEEE 40,000 0 40,000
OSTDEE LA IXA 40,000
= 20,000
Al 20,000
SIEMASSSY 3,002,362 1,386,766 1,615,596
s 1,156,000
< 200,000
Al 1,646,362
SE3yALS 170,892 151,005 19,887
101 @124l 57,392 51,405 5,987
04 D12t 22 HEE = 57,392 51,405 5,987
OslEad 224 A & M=2g oAl
66,800 x25H x7 43| 46,760
OslEd2XN7xd WFAHY € dXHG oA
i 118, 130& x6H 52! 33| 10,632
201 et 39,000 37,800 1,200
01 At 22l 13,000 13,000 0
OslBd2XN724 EHYX 1,000,000 73] 7,000
OosEzdaN=x4d 2eltl 500,000& =128 6,000
02 2324l 26,000 24,800 1,200
OdlEZd2X7 Relz2d s 7Y
1,500 604 *130 11,700
OslEd &= s 600,000& =122 7,200
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2A: AMdE
I =of HMA 25
(=R B

ol SlEAss (el @2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OdEaqd&X R &6t 2R3 300,000& =128 3,600
OslBZ3d 2K+ AIE&EHI |RAXIH 500,000 73] 3,500
202 O4dl 5,000 4,000 1,000
01 = LH 4 Hi 5,000 4,000 1,000
OdlEIIBIIY 2UEHZ L dixior
100,000& x5EF =103l 5,000
206 M= Hl 69,500 52,800 16,700
01 =8l 69,500 52,800 16,700
OslEzd 2+ HMEg8 =378 & a7
5,000,000& =63l 30,000
OJEZZXNT HEE =37 M2 HEFP
2 3,000,000& =63l 18,000
Osezd2X+F Hege s2 MM 7
2,500,000& x53] 12,500
OB=ABNT FLE bEgs 7
1,500& %404 =150 9,000
SIESH 20,040 18,072 1,968
101 @124l 20,040 18,072 1,968
04 JI12ZtHZ22HEE = 20,040 18,072 1,968
OGiEME2ZEHSH(ENM) ALFE A
66,800 x10H 6! x53| 20,040
SENE SFUHLSTNA(GEAE 8. 28 &) 760,000 760,000 0
s 400,000
< 200,000
Al 160,000
307 21201 A 445,000 330,000 115,000
as 240,000
< 185,000
Al 20,000
02 YAFAAHEE 445,000 330,000 115,000
OAMge 29 110,000
s 52,000
S 38,000
Al 20,000
Ous & Aoru 15,000
s 8,000
< 7,000
OGlEM3MY ¥ R&D 60,000
s 50,000
< 10,000
ORs & 220HHE 200,000
s 100,000
< 100,000
OslEsgHgazadst 60,000
s 30,000
< 30,000
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2A: AMdE
I =of HMA 25
(=R B

el BB MARA (S5 &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
401 Al HIZ 201 Y| 315,000 415,000 A 100,000
s 160,000
< 15,000
Al 140,000
01 A& HI 312,732 412,120 A 99,388
O ENEsEXH 312,732
s 158,836
< 14,448
Al 139,448
03 Al S THHI 2,268 2,880 AB12
OA&2bI 2,268
s 1,164
< 552
Al 552
NS M AHEA(SEESF NI ES MCELEY 30,000 162,287 A 132,287
)
308 XX EHHSOIA 30,000 162,287 N 132,287
07 IXNSHH AR S = 30,000 162,287 A 132,287
O=ZSS NI EE MCEMST F& ANZREES 30,000
slEde] 509,430 295,402 214,028
101 @124l 194,830 40,352 154,478
04 JIZHHNZ2XNSE+ 194,830 40,352 154,478
OdlEdel JI2tM eld] 106,213
By 2R 66,8003 x248L x4 H 66,266
=2 Z2R+H 100,200& 65 x4H 26,052
e84 66,800 52 x4 H 13,895
OXielat MHUAZSsd33E M=&HY Al
66,800 x20F 252 23| 66,800
OXNYAZSIE HFAHY & ==58X 224
118, 130& x4 H x4 2«23 3,781
OslEdgel =& FIURE A
66,800 x5 302! 10,020
OslEdel SSsta4 2| Al
66,8002 x1H 120 8,016
201 2et2 Y| 159,950 61,550 98,400
01 At 22l 18,550 10,350 8,200
Ost&¥a HOYEE  FA2EEFHY 2,000
OclE¢eZd YA =5 7
600,000 »3% A 1,800
OsEdelzd g2 2EF & IHE2OMH 3,250
OB ZE AR 2Y 37
500,000& x5& 2,500
OdlEdc3d SH 224 Al
8,000& x20H 202 3,200
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2A: AMdE
I =of HMA 25
(=R B

Gol SN (el:de)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OdSZo2d N 222 1y
200,000& x5H +23| 2,000
Of=ue e LAY £42
200,000& =122 2,400
OSE=gELora 2138l ==& 1,400
02 =224l 141,400 51,200 90,200
Ooedelsd M|, S ea
7,000,000& x12& 84,000
OslBdelZd &+=5L2=2 3,000,000&«12& 36,000
OslEdel3d 29 A8 & ZHIsXtl
600,000& x13| *10& 6,000
OslEdel3d &g ¥ 83X 5Kl
1,000, 0002 = 1CH 1,000
O&JletEzte] He+=+2 700,000& x12& 8,400
OclEsgE&nora s2J 2EsA2cld o
- 6,000
SHE 250,000 1204 & 3,000
Zoers 250,000 1200 & 3,000
206 M= Hl 54,650 23,500 31,150
01 =8l 54,650 23,500 31,150
OslBdelsd =84 7 5,000 *500% 2,500
Oslzgelza z3i7 A 7
7,0003 100 +25 1,400
OBB%eRH 5% £ ME 7
20,000& x50& * 13| 1,000
OslEdelZd JIAHMAEY 2z 2
2,000& 5004 1,000
OslEdel3d 2488 0tdg ¢
800& *20,000= 16,000
Ooedelsd 22 stE71e
3,000& x1,000= 3,000
OfBwelZe T34 U si=ne 57 S
AHTH = & 50,000& x208 1,000
OoEdelsd F2XTdE =357 2
500& *30,000=F 15,000
OzaABRRE BN PY
20,0003 +x3=2+258 & 1,500
OZHYBR2IS HHNBE 7Y
10,000& 10& = 100K 1,000
Os=A2Y SHI| HYR] 7Y
,500& *1,500¢ =5 11,250
401 Al BIZ 201 8I 100,000 170,000 A70,000
01 A& HI 98,920 168,776 A 69,856
OXdAZ2s3 |A&2l 20,000,000 x98.92% 19,784
OslEdel S22 20,000,000& *98.92% 19,784
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2A: AMdE
I =of HMA 25
(=R B

Sl BB MYSY CEEEED
x 5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OslE=SEI o2 A2
20,000,000 x98.92% 19,784
Oslsde 2els £ &L A2
20,000,000 x98.92% 19,784
OFXE & 2EUAE X2
20,000,000 x98.92% 19,784
03 AlE 201 | 1,080 1,224 AN 144
OXNMAZZ2E KX 20,000,000 x1.08% 216
OdlEge A& 20,000,000 x1.08% 216
OolE=gEIota2 SAl&2
20,000,000& x1.08% 216
Osesde 2els ¥ &L SR
20,000,000 x1.08% 216
OFXE & 2UAE X2
20,000,000 x1.08% 216
A TAN LA (Gl E2]) 1,512,000 0 1,512,000
g 756,000
Al 756,000
401 AlEHIZL 201 Y| 1,512,000 0 1,512,000
= 756,000
Al 756,000
01 Al&H| 1,506,557 0 1,506,557
OXelatoiEwe M) & Ferel 8X 1,506,557
= 756,000
Al 750,557
03 AlE 20| 5,443 0 5,443
OXelataiewe M2 &L Herol &X 5,443
W=EZMA DR H 2,590,683 2,631,009 AN40,326
g 100,000
J| 819,193
o 45,000
Al 1,626,490
WEMASLT XN 312,700 342,700 A 30,000
402 SI2tXHE0| ™ 312,700 342,700 A 30,000
01 QI EAS EX (M) 312,700 342,700 A 30,000
ODNEE T MAMCEX X 262,700
OA HES MREHE  4,000& *25,000m *50% 50,000
D= MAPDBEAI A 105,000 215,000 A 110,000
402 SI2F 20| & 105,000 215,000 A 110,000
01 BIZtXIEANYE X (KM ) 105,000 215,000 A 110,000
Ol4sIt 2 (=sE)XNHA
7,000,000 *302=2 *50% 105,000
DNEZE WMo XS 700,000 650,000 50,000
402 SI2FXHE0| M 700,000 650,000 50,000
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2A: AMdE
I =of HMA 25
(=R B

SR BASTUY @RS (29 a8)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 2IZEH 2 A B (KR ) 700,000 650,000 50,000
Ot U=2R AEAZYO0NH X
26,000,000& = 18CH x50% 234,000
Ot DARAR XA
16,000, 000& *30CH x50% 240,000
oLl XA 14,000, 0002 *6CH x50% 42,000
O&sHs| 2,000,000& =54 CH x50% 54,000
OZZ dofgxg 2371 XNE
6,000, 000& »25CH x50% 75,000
Ot M2Iloll oleX&A
50& +2,200,0007H1 x50% 55,000
SEHES MU 106,000 50,000 56,000
402 RI2EXt20| ™ 106,000 50,000 56,000
01 2I2F 2 AL B (REMTH ) 106,000 50,000 56,000
OSSHE M DAL X 56,000
sg2d N& 7,000,000 *8= *50% 28,000
Z=Ald X3 2,500& *17,600m" x50% 22,000
olar==2td| XI& 6,000, 000 *2CH *50% 6,000
Oulas Eg8(%8)82 84 50,000
TH HH X & 10,000& 10,000 m" x50% 50,000
D DEHASSEUSHFTAD A MAAI S S TS 250,000 235,000 15,000
J| 100,000
< 45,000
Al 105,000
402 RIZEX20l ™ 250,000 235,000 15,000
J| 100,000
< 45,000
Al 105,000
02 RIZEXt 2 AL EZ (OIS ) 250,000 235,000 15,000
OFTARt & M AHAl S S T &t 250,000
J| 100,000
< 45,000
Al 105,000
DA M2 MACT DI B A (FTADHA & A BERH] ) 817,500 982,000 A 164,500
J| 654,000
Al 163,500
403 A X EHHSH=0IA 817,500 982,000 A 164,500
J| 654,000
Al 163,500
02 SO 2SOIlCHEH A2 X 2| & A I 817,500 982,000 A 164,500
OFTADHA! M AT BEEH| (S DX 7 ) 517,500
J| 414,000
Al 103,500
OFTARH A M A BHEHI (S S X7 ) 300,000
J| 240,000
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2A: AMdE
I =of HMA 25
(=R B

SR BASTUY @RS (29 a8)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| Al 60,000
SENE SIS (AATHHSH X EH) 120,000 120,000 0
s 100,000
Al 20,000
402 2I2H X201 M 120,000 120,000 0
s 100,000
Al 20,000
02 QI E2AISEZ (OIS ) 120,000 120,000 0
OQATHHHH X =S 120,000
s 100,000
Al 20,000
SESEXNSMNEEUE NA(SESHS(AY) MUAL 155,000 0 155,000
siist)
J| 62,000
Al 93,000
402 QI2H X201 M 155,000 0 155,000
J| 62,000
Al 93,000
02 QI 2 AL EZ(OI X TH ) 165,000 0 155,000
OSSHS(UY)HLMALS S 155,000
J| 62,000
Al 93,000
ESXASNEEUS NA(SESHS(HA, =X, A8 7,983 28,809 A 20,826
Z2) MUAL EUE)
J| 3,193
Al 4,790
402 RI2HXt20l 7,983 28,809 220,826
J| 3,193
Al 4,790
02 It 2 AL EZ (O TH ) 7,983 28,809 220,826
OSEXS(HA A&, )MMALS st 7,983
J| 3,193
Al 4,790
GAP 2IE=Jt Rl - &UHE st A X3 A 16,500 0 16,500
402 RI2FX =201 M 16,500 0 16,500
01 2I2E 2 A B (KR ) 16,500 0 16,500
OGAPIE =t |X - HIHE I8 XM XI& At
e 16,500
s EdE SHAHIEAY 5,557,732 846,056 4,711,676
= 2,040,000
< 1,064,000
Al 2,453,732
dEd stEE 2 AH 5,557,732 846,056 4,711,676
= 2,040,000
< 1,064,000
Al 2,453,732
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2N
X ZH -
L= B

el

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
dEtd IEE ZHAH X4 879,732 726,056 153,676
201 gBt24d| 28,200 9,200 19,000
01 AP 22| H| 28,200 9,200 19,000
Ogbt4=24| 8,200
Og8da=s HE 20,000
202 044l 5,000 4,000 1,000
01 2L Y| 5,000 4,000 1,000
OZHEEMS JIEESX 5,000
207 A0 | 100,000 0 100,000
01 A 100,000 0 100,000
OXAMAMAHEH HE EIEY ZAISH
100,000,000 =14l 100,000
306 52 746,532 712,856 33,676
01 542 746,532 712,856 33,676
O(MEASFIEHEMATRLAE 2IXH =4
= 746,532
HNEtAIHAHIA (2T XH) 120,000 120,000 0
306 212 120,000 120,000 0
01 5492 120,000 120,000 0
OE®LIIgsAEAMNY AXANMEEZ 90,000
OsMHEMAI=MEAMEYE XNAHESLS 30,000
MO SIAEIAS MAMALE E(BEX) 4,000,000 0 4,000,000
= 1,700,000
= 1,000,000
Al 1,300,000
402 SI2FXHE0| & 4,000,000 0 4,000,000
= 1,700,000
= 1,000,000
Al 1,300,000
02 QX2 A E X (0| X THS) 4,000,000 0 4,000,000
OFAHE FIEESASMAALE 2= 4,000,000
= 1,700,000
& 1,000,000
Al 1,300,000
SIE HHWE 2 ¥4d oE NI (XNEF=CH) 558,000 0 558,000
= 340,000
= 64,000
Al 154,000
201 Bt 2,000 0 2,000
01 AP 22| H| 2,000 0 2,000
Ogbt424| 2,000
202 044 2,000 0 2,000

- 340 -




BT EEr
M MESESEZ SHAHI LAY
¢ EHY SEE 2H2AH (cho &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 = LH 4 bl 2,000 0 2,000
O=LHotbl 2,000
307 21201 A 554,000 0 554,000
= 340,000
< 64,000
Al 150,000
02 QIAHFAAHEX 554,000 0 554,000
OQlAHl (A= 228 +1,600& A+120H 2 ) +( &l 7
5% 1,600 & +1001 &) 502,400
= 314,000
< 58,800
Al 129,600
OWsdl: 278+1,911& &=51,600& & 51,600
= 26,000
< 5,200
Al 20,400
HE2HZH (A0 ED) 88,450 80,800 7,650
Jl=&l 88,450 80,800 7,650
Jl2234 88,450 80,800 7,650
201 Let24d] 43,850 44,100 A 250
01 At 2teltl 43,850 44,100 A 250
O=etl 7,000
O e8| 31,000
Ooledel A 50,000 117 5,850
202 O4dl 34,300 31,900 2,400
01 = LH 4 Hi 24,700 22,300 2,400
OIS SRF=& ddl 24,700
02 X 9,600 9,600 0
Ooledel EHANH 200,000 »4H 128 9,600
203 B R =&l 4,800 4,800 0
04 FENSEHR=LH 4,800 4,800 0
ORNEYLRETY| 4,800
405 RHoHF S HI 5,500 0 5,500
01 AL EZFH S 5,500 0 5,500
OLIIs A 2¢ 5,500
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